Economics 3250 Dr. Lozada
Spring 2015 Exam 1

This exam has 25 points. There are six questions on
the exam. Most of the questions are worth 4 points, but
one is worth 5 points.

Put your answers to the exam in a blue book or on
blank sheets of paper.

You have the entire class period (that is, until 1:10pm)
to take this test.

Answer the questions using as much precision and de-
tail as the time allows. Correct answers which are unsup-
ported by explanations will not be awarded points.
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Answer all of the following six questions.

. [4 points] Give a numerical example showing that the “aver-
age” value of a function is not the same as the “marginal” value
of that function.

. [4 points] In class and in the textbook it was shown that, in
a simple situation, a tariff is inefficient. Give a (not-so-simple)
example in which getting rid of a tariff might be inefficient.
You do not have to draw a graph, and you do not have to prove
that “in a simple situation, a tariff is inefficient.”

. [4 points] Suppose that if a society invested $1.00 in pollu-
tion control today, it would get a benefit of $1.10 one year from
now.

Tell me everything you know about the social discount rate of
a society which decides that it is not worthwhile to make that
investment. Explain your answer, preferably using some math-
ematics.

. [5 points] Give a numerical example of a plausible case in
which Cost-Benefit Analysis fails to be a “complete” ranking.

Hint: use “willingness to pay” and “willingness to accept.”

. [4 points] In class, in discussing “expected value,” 1 con-
sidered the following “lottery,” which depends on how many
“heads” someone can toss in a row before a “tails” is thrown,
ending the game:

outcome probability payoff

first toss is tails 1/2 0
heads then tails 1/4 $4
two heads, then tails 1/8 $8
three heads, then tails 1/16 $16
four heads, then tails 1/32 $32

etc.
n heads, then tails 1/n $n

What purpose did this example show?
Hint: “expected utility.”



6. [4 points] Using a graph with “output” on the horizontal axis
and “$/unit” on the vertical axis, explain the Coase Theorem.
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